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Video Debrief

In this activity, you’ll identify the schema of several multiplicative word problems.
1. Read the word problem.
2. Identify the schema.
3. Solve the problem using the schema.
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                                                                                                                              PARCC fifth-grade release item (2014)
1. Read the word problem.

2. What’s the schema? _________________________________

3. Solve the problem using the schema.
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                                                                                                             SmarterBalanced fourth-grade release item (2014)
1. Read the word problem.

2. What’s the schema? _________________________________

3. Solve the problem using the schema.
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                                                                                                                   SmarterBalanced third-grade release item (2014)
1. Read the word problem.

2. What’s the schema? _________________________________

3. Solve the problem using the schema.
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                                                                                                                                        STAAR fifth-grade release item (2014)
1. Read the word problem.

2. What’s the schema? _________________________________

3. Solve the problem using the schema.
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                                                                                                                                  STAAR fourth-grade release item (2014)
1. Read the word problem.

2. What’s the schema? _________________________________

3. Solve the problem using the schema.

Don’t Forget: Video Debrief!
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Scott is reading a book that has
172 pages. Melanie is reading a
book that has three times as
many pages as Scott's book.

How many pages does Melanie's

book have? Select all the

equations that represent this
problem.

172 + 3

172 x 3

+172=3

172 +

=172

=172
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Lindsay has 18 flowers. She plants them in 6 flower pots. Each flower pot has an
equal number of flowers.

How many flowers are in each flower pot?
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A water dispenser contains 512 fluid ounces of water. What is the total number of
8-fluid-ounce cups of water that can be filled from the dispenser?

F 611
G 64
H 4,096
J 61
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Isaiah put 301 floor tiles in 7 rows. Each row had the same number of tiles. How
many tiles did Isaiah put in each row?

F 43
G 41
H 42
J 40
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Jim uses ribbon to make bookmarks. Jim has 9 feet of ribbon. He uses % foot
of ribbon to make each bookmark.
What is the total number of bookmarks Jim makes with all 9 feet of ribbon?

Enter your answer in the box.
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